A. PD-L1 high vs negative

PD-L1high  PD-L1 negative

Study Hazard Ratio (95% CI) Hazard Ratio (95% Cl) A Events Total Events Total 0dds Ratio (95% CI)
SP142 SP142
IMpower-130 0.85[0.56, 1.28] — [Mpower-131 4 4 m m T
IMpower-131 0.83[0.58, 1.18] — IMpower-132 n 2 20 75 i
Subtotal (95% CI) .84 [0.64,1.10], P = 0.20 ¢ Subtotal (95% CI) 64 246 >

Total events 25 91

Test for overall effect: P = 0.76
22C3/28-8 22C3/28-8
CheckMate-227 075 [0.59, 0.95] ™ CheckMate-227 6 192 43 186 —+
CheckMate-9LA 0.76[0.61, 0.94] 1 KEYNOTE-189 16 70 9 63 -+
KEYNOTE-189 0.89[0.58, 1.37] ] KEYNOTE-407 24 73 40 99 —
KEYNOTE-407 0.74[0.50, 1.10] - Subtotal (95% CI) 335 348 &
Subtotal (95% CI) 0.77 [0.67, 0.88], P = 0.0002 [ Total events 108 92

Heterogeneity: Chi? = 5.80, df = 2 (P = 0.06); 2 = 65%

Test for overall effect: Z = 1.92 (P = 0.06)
Total (95% Cl) 0.78 [0.69, 0.88], P < 0.0001 Total (35% CI) 399 594

Total events 133 183

B. PD-L1 low vs negative

SP142
IMpower-130

IMpower-131
Subtotal (95% CI)

22C3/28-8
CheckMate-227
CheckMate-9LA
KEYNOTE-189
KEYNOTE-407
Subtotal (95% CI)

Total (95% CI)

C. PD-L1 high vs low

SP142
IMpower-110
IMpower-130
IMpower-131
Subtotal (95% Cl)

22C3/28-8
CheckMate-227
CheckMate-9LA
KEYNOTE-042
KEYNOTE-189
KEYNOTE-407
Subtotal (95% Cl)

Total (95% Cl)

0.77 [0.54, 1.10]
067 (0.5, 0.88]
0.710.57, 0.88], P = 0.002

0.8 [0.69, 1.07]
0.89[0.73, 1.08]
0.7 [0.48, 1.23]
0.90(0.62, 1.31]
0.87[0.76, 0.99], P = 0.04

0.82[0.74, 0.92], P = 0.0006

1.29[0.96,1.73]
141068, 1.81]
1.25[0.81,1.92)
1.24[1.00, 1.54], P = 0.05

0.87[0.70, 1.08]
0.85 0.67, 1.08]
0.95[0.80, 1.13]
145[0.72, 1.84]
1.03[0.67,1.59]
0.92[0.82,1.03], P = 0.14

0.980.89, 1.08, P = 0.67

FIGURE S3A: OVERALL SURVIVAL

Test for overall effect: P = 0.07
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PD-L1 low PD-L1 negative
B Events Total Events Total Odds Ratio (95% CI
SP142
IMpower-131 54 124 A
IMpower-132 28 13 20 75
Subtotal (95% CI) 197 246
Total events 82 91
Test for overall effect: P = 0.25
22C3/28-8
CheckMate-227 51 205 43 186 -
KEYNOTE-189 12 58 9 63 T
KEYNOTE-407 43 104 40 99 -
Subtotal (95% CI) 367 348
Total events 106 92
Test for overall effect: P = 0.48
Total (95% CI) 564 594 r
Total events 188 183
Test for overall effect: P = 0.20 I } 1 1
0.01 0.1 1 10
PD-L1high ~ PD-L1low
C Events Total Events Total Qdds Ratio (95% Cl)
SP142
IMpower-110 28 9 60 179 -
IMpower-131 14 4 54 124 I
IMpower-132 1" 2 28 713 T
Subtotal (95% Cl) 162 376
Total events 53 142
Test for overall effect: P = 0.39
22C3/28-8
CheckMate-026 2713 21 08 T
CheckMate-227 68 192 51 205 —
KEYNOTE-042 96 300 73 337 -
KEYNOTE-189 16 70 12 58 -
KEYNOTE-407 2% 13 43 104 -7
Subtotal (95% CI) 708 785 L J
Total events 231 200
Test for overall effect: P = 0.001
Total (95% Cl) 870 1161 4
Total events 284 342 ) ) )
Test for overall effect: P = 0.02 oot ) "

FIGURE S3B: OVERALL RESPONSE RATE




